Genetics WS C – Codominance/Incomplete Dominance Cross

· Cross the following, do the Punnett Square and determine the phenotype percentages.

Assume:

R = Red
 Flower

B = Brown Fur

T = Long Tail

Y = Yellow Leaves


W = White Flower
W = White Fur

N = No Tail

B = Blue Leaves


	
	

	
	



	
	

	
	



	
	

	
	



	
	

	
	



	
	

	
	


	

	

	
	



	
	

	
	



	
	

	
	


	

	

	
	



	
	

	
	


	

	

	
	


Red Flower x White Flower





Phenotype %:





Pink Flower x White Flower





Phenotype %:





Pink Flower x Red Flower





Phenotype %:








Pink Flower x Pink Flower





Phenotype %:








Offspring: 50% Spotted Fur & 50% Brown Fur








Parents:		_____________   X   ______________








Offspring: 50% Spotted Fur & 25% Brown Fur & 25% White Fur











Parents:		_____________   X   ______________





Offspring: 100% Spotted Fur 











Parents:		_____________   X   ______________





Long Tail cat x No Tail cat





Phenotype %:








Long Tail cat x Short Tail cat





Phenotype %:








Short tail cat x No Tail cat





Phenotype %:








Short tail cat x Short tail cat





Phenotype %:











